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1. TS MIPTR o[ o% Tt IR e ¢ 1x5=5
Choose the correct answer from the
following :

(a) ORI 21 S[aeh sifdrere o =

The first law of thermodynamics can
mathematically be written as

(i) 8Q=dU-8W
(i) dU=8Q-8W
(iii) W =dU-380
(iv) @9 GB1e T

None of the above



(2)

(b) TS Al TRETIRA ~R (DT B ?
Which of the following relations is
correct?

() TVY = constant

W T .
(ii) v = constant

T Y
(iii) (—) = constant
|4
(iv) TVY™! =constant
(c) SO Tl T=oRETRT *[1 (P! % ?
Which of the following relations is
correct?
) Cp-Cy=R
(i) Cp/Cy=R
( iii) CP = R - CV
(iv) Cp = CV -R
(d) FH-R ARy WRIT T H
Fermi-Dirac statistics is applied to
particles having »
(i) 0 YITe FIR (FqS
zero spin
(i) o TR TR CFIS
integral spin
(i) - LIRE IR CHqo
half-integral spin
(iv) SRR I8 Ty
None of the above
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(o) NS $RF 4T ARE @R G

known as , ( .
] Wﬁﬁﬁm o " :
e R

adxabatlc process
PN R YRR o Sl
(ll) Wﬂﬁﬂl GG gL
1sobanc process
(iii) w@aﬁfm
. isothermal process , - : ...
) fRaewerafen

isochoric process . -

2. w@ PR SR B o 2%5°10
Answer the following questlons ‘
(a) wq@ﬁamwmﬁmwwmm
E AR

State Zeroth law of thermodynanucs and
briefly explain the concept of
temperature. . :

(b) RSN AfdFme ¢F P AReE @ty =

Calculate the change in entropy for a
reversible process.
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()
(d)

(e)

3. (a)

(b)

4. (a)
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(4)

FI6 N o3 R faam o

Give a brief description of the Carnot
theorem. ‘ ’

SR T TS % o B @ e

What do you understand by mean free
path of a molecule?

Tom R s o o Tam
o B a0 A Rl

Define blackbody radiation_ What do you
understand by a perfectly blackbody?

FOM 9% T e s RPN

Bferaar |

S:t::m an a;ﬂ::ression for tﬁe relation
een iabatic i

elasticities, and jsothermal

T S

-Gl RRE TR s s




(b)

S. (a)

()

(c)
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(S)

CRE-IENN,  Ir-wEeE  WF
FIf-Rare ARMRIR Tl 31 |

Give a detailed comparison of Maxwell-
Boltzmann, Bose-Einstein and Ferrm-
Dirac statistics. -

IR v Rivm orefdRem afdm seem
R wE IR YW IRARCR SRR
Sféraat |

Discuss the various thermodynamic
processes occurring in a Carnot cycle
and obtain an expression for the
efficiency of Carnot engine.

e YvE IR IR e TdS iwm
eferean |

Derive the three TdS relations using
Maxwell’s relations.

PR B W2 oy o wuRe 4R

4

6

BIFT AIPRIM Bforear | 1+5=6

What is diffusion? Obtain an expression
for the coefficient of diffusion of a gas on
the basis of kinetic theory.

oeJr/ Or
oy Wy ReIR GRemRd @A gerRf
Sfenaar |
Derive an expression for the Maxwell’s
law of distribution of velocities of
molecules in a gas.
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(6)

6. v ol o (R e ) - 3x2=6
Write short notes on (any two) :
(a) # fRA=-GIR AR
Clausius-Clapeyron equation

(b) T R
Photon gas

(c) refRerT $o 5@
Third law of thermodynamics
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